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(1) 40cm (2 785cm* (3 96em® (&) 4710cm3
(1) 552cm? (2) 2826 cm3

Ak AROGAB=KEEX S
(1) (4X4+2)X5=8X5 2) (5%x5x%x3.14) X10=78.5X%X10
=40 (cm3) =785 (cm3)
3) E@HEIE, (3+5) X4+2=32+2
=16 (cm?

LT, kwstkilr, 16X6=96(m’

G EaoxEs210cm &34 30cmO DAL,
(10Xx 10%3.14) x30=314x30
=4420 (cm3)
KoL, 2ok T, 9420+-2=4710(cm3)

() E&@lL, &Z|3cm &
& 1 2em, &
JE AL, (|3><6f2)+(|2><572)—39+30
=69 (cm?)
-7, kosaMElL, 69X8=552(cm)

Q) E@mOXEL0cm &34 1 2emO AL, K@EOFESO0m &I [2cmd
izt { WA EIERL LL I TE S,
-7, ko SEHEL,
(10X 10X3.14% 12) — (5X5x3.14%x12) = (314x12) — (78.5X 12)
=3768—942
= 2826 (cm?)



